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SECION I: PROSE

(Reading for Comprehension, Language study, Summary Writing, Mind Mapping

Q. 1 A. Read the extract and complete the activities given below: (08)

Here was an old church, quaint and rambling and gabled. Through one violet-stained window a soft light
glowed, where, no doubt, the organist loitered over the keys, making sure of his mastery of the coming Sabbath
anthem. For there drifted out to Soapy's ears sweet music that caught and held him transfixed against the
convolutions of the iron fence.

The moon was above, full and radiant; vehicles and pedestrians were few: sparrows twittered sleepily in
the eaves or a little while the scene might have been a country churchyard. And the anthem that the organist
played cemented Soapy to the iron fence, for he had known it well in the days when his life contained such
things as mothers and roses and ambitions and friends and immaculate thoughts and collars.

The conjunction of Soapy’s receptive state of mind and the influences about the old church brought a
sudden and wonderful change in his soul. He viewed with rising horror the pit into which he had tumbled, the
degraded days, unworthy desires, dead hopes, wrecked faculties and base motives that made up his existence.

And also, in a moment his heart responded thrillingly to this strange mood. A strong impulse moved him
to battle with his desperate fact. He would pull himself out of the mire and would make a man of himself again;
he would conquer the evil that had enslaved him. There was time; he was young vet; he would resurrect his old
eager ambitions and pursue them without faltering. Those solemn but sweet organ notes had set up a revolution
in him. Tomorrow he would go into the roaring downtown district and find work, A fur importer had once
offered him a place as driver. He would be somebody in the world. He would «=--

' Soapy felt a hand laid - on arm. He looked quickly around into the impassive face of a policeman.

“What are you doin” here?" asked the officer.

“Nothin’,” said Soapy.

“Then come along, “said the policeman,

“Three months on the island,” said the Magistrate in the Police Court the next morning,

A1, Complete the following web by writing the atmosphere of the church when Soapy reached near the church.

(2)
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A2. Complete the following: .
2)

After listening to the sweet and solemn organ notes, soapy decides to:

() sunsnxsemnisordmmaiipinnives SHRRE 448 R 0 SANES vesmsisamanninanrIres

A.3. Interpret the statement from ihe extract, “He would make a man of himself again™, @)

B: Language study: (Non-textual Grammar)
B. 1. Transformation of sentence 3

(i). Women represent half the world’s population, but contribute for less than fifty percent of economic
activity. (Find out correct complex sentence from the given options and rewrite (1

a. As women represents half the world’s population, they contribute for less than fifty percent of economic
activity.

b. Women represent half the world’s population, and contribute for less than fifty percent of cconomic activity,

¢. Though women represent half the world’s population, they contribute for less than fifty percent of economic
activity.

d. Women represent half the world’s population as well as contribute for less than fifty percent of economic
activity.

ii. We need to provide greater access to eredit to women (0 achieve greater economic independence, (Find
out correct sentence where modal auxiliary showing ‘compulsion’ is used from the given options and
rewrite) (1

a. We can provide greater access to credit to women to achieve greater economic independence.

b. We will provide greater access to ¢redit (o women Lo achieve greater economic independence.

¢. We should provide greater access to credit to women to achieve greater economic independence.
d. We must provide greater access to credit to women to achieve greater economic independence.

iii. “Go und wash your face,” said the teacher. (Given below are four options, find out correct Indirect
Speech of the given options and rewrite it) n

a. The teacher asked him/her to go and wash his/hers face,

b. The teacher advised him/er to go and wash hisfhers face.

¢. The teacher ordered him/her to go and wash his'hers face.

d. The teacher told him/her to go and wash his'hers face.

B. 11. Spot the error and rewrite the correct sentence: (1)
i, Sumed and Rahul were in no mood of talking,

Q.2 A. Read the extract and complete the activities given below: {06)

The 21st century poses many challe .
nges that require new wa i
. ys of thinking. None of i imnortant
than the econom ne of them is more impo
cnnl‘.rib:ﬁ:c t:teir '; role of "‘fc'"""" In a quickly changing warld. But women today remain blocked from
it w:men il":.': :ot_ennal. This has a huge cost. In some countries, the per capita income is very low
D el
given equal opportunity, They are half the world’s Sogiiianon: Bur thalf §0n0 mic

centribution is far less than 50%. We ha
: ve to change this si ;
 Lasrving bobosk ek Ueadrsi, ge this situation. For empowering women, | suggest three |5
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Education is the foundation on which any change is built. Learning helps women to help themselves and break
free of the chains with which they are bound. This is more necessary in the developing world. In Africa, there
is @ common saying: “If you educate a boy, you train a man. If you educate a girl, you train a village.”

Labour is the second step. Labour helps women to flourish and achieve their true potential. Unfortunately,
today, even when women work, they are often limited to jobs where the pay, status and security are low.
Glabally, women eam anly one third as much as men, even when they have similar education and similar jobs.
One of our important ideas should be "equal pay for equal work”, Researches show that removing the gender
inzquality in economic participation can bring an increase in the per capita income.

Women can be given more opportunities in the work place. There is a need to change our laws to ensure that
property and Inheritance laws do not discriminate against women. Education and healthcare for women

should be encouraged. Women should be given more credit facilities so that they can get greater economic
independence.

The 3rd L is leadership. It enables women to rise and fulfil their inborn abilities and talents. A lot can be done
here, Sometimes women make better leaders than men, Women tend to make decislons based on consensus
building, inclusion, compassion and sustainability, it is true that sometimes women lack the confidence to
match their competence. They have to change thelr mindset. They should be ready to “dare the difference”,
to take risk and step outside their comfort zones, But they face a lot of barriers. These barriers are seen even
when we talk about giving primary education for girls in a village or giving executive positions to women in
business.

Al. Complete the details in column ‘A’ and ‘8" about Women’s Empowerment ‘learning” and “leadership’

and rewrite: (2)
Learning Leadership
i) First step of womnen’s empowerment i) Third step of Women's
Empowerment

li F o e | 1 [

i, M- L]

A 2. Find out from the extract the different ways to promote more opportunities for women in the workplace,

(2)
A 3. “If you educate 2 boy, you train a man, If you educate a girl, you train a village" Explain your views on
above statement in about fifty words, 2
B: Summary 3)
21st century women's changed role...c e i, TTUE potential unutilized ...,
veereereee MR t0 give them rights ... weees importance of three L's ...
need to change mindset,......c.cccmincen, Obstacles in their way.
€. Mind-mapping: (3)

You live in an era where huge Information Is communicated to you in different forms continuously. Develop a
‘Mind Mapping’ frame/design using your deas/thoughts/concepts to illustrate / develop on the topic, "Forms
of Communication”.
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SECTION: Il
(Poetry and hppreclatinn}

Q.3. A Read the extract and complete the actlvities given below:

«Canst hear', said one, ‘the breakers roar”
For methinks we should be near the shore’.
‘Now where we are | cannot tell,

But 1 wish [ could hear the Inchcape Bell™.
They hear no sound; the swell is strong;
Though the wind hath fallen they drift along,
Till the vessel strikes with a shivering shock, -
*O Christ! it is the Inchcape Rock!"

Sir Ralph the Rover tore his hair;

He curst himself in his despair;

The waves rush in every side,

The ship is sinking beneath the tide.

But even in his dying fear

One dreadful sound could the Rover hear,

A sound as if with the Inchcape Bell,

The Devil below was ringing his knell.

Al. Name the two speakers from the first stunza and write what they are saying.

A2. Explain the line, “The Devil below was ringing his knell®

(8)

2
(ed

A3, “Evil cannot go unpunished in this world" write your opinion on this in about 50 words in the light of the

poem “Inchcape Rock’

Ad. Poetic device:
Identify and explain the figure of speech in the following line.

A sound as if with the Inchcape Bell,
The Devil below was ringing his knell.

Q.3. B. Appreciation:
Read the extract and write an appreciation of the poem.

Afoot and light-hearted I take to the open road,

Hgalthy, free, the world before me,

The long brown path before me leading wherever | choose.
Henceforth 1 ask not good-fortune, I myself am good-fortune,
Henceforth I whimper no more, postpone no more, need nothing,
Done with indoor complaints, libraries, querulous criticisms,
Strong and content 1 travel the open road.

‘The earth, that is sufficient,

I do not want the constellations any nearer,

I know they are very well where they are,

1 know they suffice for those who belong to them,

(Still here I carry my old delicious burdens,

I carry them, men and women, 1 carry them with me wherever | go,
I swear it is impossible for me to get rid of them,

1 am fill'd with them, and I will fill them in return,)
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SECTION: 111

(Writing Skills)
Q.4 Complete the activities as per the instruction given below: (%)
A. Attempi any one from the given activities: 4)
Drafting a Virtual Message:
Imagine, you have planned different methexds 10 study for your HSC Board Examination, Use the given templet
and draft a Virtual Message in about 100V150 words, to give these details 1o your friend. give your own reasons
10 SUPPOrt your message.
With the help of the details given above complete the template given balow.

(O e o —
From: R 'l I ——
Date: Time: | ehome: N
E— A |
Taken By: ]
OR
Review:

Write a review on your *favourite movie' that you have watched receatly with the help of the following points.

¥ Title of the movie

¥ Story in short

» Characters and theme

» Reasons for appreciating the movie
B. Attempt any one from the given activities: (4)

D E-Mait:
Your uncle has bought & ‘Branded Wristwaich® through online shopping app. On receiving it you find it in a
damaged condition. Your uncle has asked you to drafi an E-Mail in a proper format 1o be sent 10 the concerned
authority. Give the details of the product you received. Make n request 1o the concerned authority to take the
damaged product back and send new one.
OR

Interview:
Imagine you have to conduct an interview of a *distinguished personality in the fickd of your own cholee’.
preparc a sel of 8 questions to be asked with the help of the given format and points,

Name of the interviewee

{distinguished personality)
Area of Success/Reputation

Date/Venue/Time

Duration of Interview

Questhons

-
Questions based on - e
1. Early life/struggle _J
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2. Obstacles in Education =
3. Family Support g A
4. Inspiration .
e T e A
6. Special Moment o -
7. Future Plans o
8. Messape - o
SECTION: 1V
{Genre- Novel)
Q.5. A. Complete the activities given below as per the instructions: (4)
i) Match the columns: @
A B
1., Picaresque Novel 1) Presents the narrative through a series
of correspondence or other documents. lor ¢.g. letters,
diaries entries
2, Epistolary Novel b) includes terror, mystery, horror, thriller, supernatural,
doom, death Or decay or haunted buildings.
3. Gothic Novel ¢) narrates the adventures of the protagonist, who is an
cccentric or a disreputable person, in an episodic form.
4. Bildungsroman Novel d} is concemned with the growth of the protagonist’s mind.
spitit and character from their childhood or adulthood.
ii) Choose the correct alternative and rewrite the sentence, (2)

a) The European novel is often said to begin with “Don Quixote™ written by
(Miguel de Cervantes/ John Bunyan/ Geoflrey Chaucer)

b) has been described as the world's first novel.
(Tale of Genji/ The Canterbury Tales/ Evelina)

¢) ‘Rajmohan’s Wife' was the first novel in English writien by an Indian
(Raja Reo/ Bankim Chandra Chattopadhyaya)

) is the pioneer of the Stream of Consciousness technique in the English novel.
(Jane Austin/ Agatha Christie/ Virginia Wolf)

Q.5.B. Answer in about 50 words to the questions given below: @

i) Give the character-sketch of the narrator in the extract from *To Sir with Love', @

ii} Explain in brief *the student teacher relationship “theme of the extract from *To Sir with Love’ @

AR L T YL I
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PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
Sunder Nagar, 8.V, Road Malad (w), Mumbai 400064
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Day—---0§ SEAT NUMBER E=t= T T
I L T T 1 '
2022 X | 17 | 1300 | |
—_— | ST | U
ECONOMICS (49)
TIME: 2.30 Hrs. (2 Pages) Max. Marks: 50
\ .
NOTE:

1) All the questions are compulsory,

2) Draw neat tables and diagrams wherever necessary.
3) Figures to the right indicate full marks

4) Write answers to all main questions on new page.

Q.1 '(A} Chuoose the correct option. (05)
(I) The branch of economics that deals with the allocation of resources.
a) Micro Economics.  b) Macro Economics

¢) Econometrics. d) Monetary Economics
Options:
a, b, ¢ 2)aand b
3) Only a. 4) None of these
(11} After a point of satiety, any additional consumption of commodity result into;
a) Negative MU. b) Diminishing TU
¢} Disutility, d) Maximum TU
Options:

1)a, b, d 2)a. b, c
J}a, ¢ d 4) None of these

(I11) Indirect demand ;
a) Machinery b) Sugar
¢) Labour. d) Capital
Options:
l}a, b, candd. 2)a, be
3)a b, d 4)a, e d
(IV) In case of inferior goods the income elasticity of demand is :
a) Positive. b) Negative
¢) Infinite. d) Zero
Options:
1ac )b, c
Nab,c 4yonly b
(V) Increase in supply is shown by:
a) Price change only
b) Movement on the sume supply curve.
c) Shifting of the supply curve to the left.
d) Shifting of the supply curve to the right.

Options:

1)a,b 2)b,c

3) Onlyd 4)b.c,d
(B) Complete the correlation. {05)
() Macro Economics theory: Income and Employment:: Micro Economics:
(Il) Transport of goods: ::Storage of goods: Time Utility
(111} Direct Demand : Food and Mobile :: : Land and Labour
(IV) Rectangular hyperbola: 3 Steeper demand curve: Relatively inelastic demand

(V) Total cost : TFV+ TVC :: Average cost;
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. Two) :
Q2(A) Identify and explain the following concept ( Any 1 . i
(1) Manju coll?tted the Esfurnmlim'l about the income of particular firm . N T
(1) Out of 5000kgs of rice the farmer offered 10 sale 2000 kgs of rice in t PEEs per kg

(I11) Whenever there is a fall in price of gold, demand for gold rises.

(B) Distinguish between (Any Two). &
(1) Individual Demand and Market Demand

(11) Stock and Supply

(I Micro Economics and Macro Economics

Q.3) Answer the following { Any Two) . (s
1} Explain any four features of micro economics.

2) Elaborate any four features of utility.

3) Explain any four determinants of supply.

Q.4) State with reasons whether you agree or disagree with the following statements. (AnyTwe).
(I) The scope of micro economics is unlimited. N

(I1) There are no exceptions to law of Diminishing marginal utility.

(1) Supply curve of labour is backward bending.

Q.5) Study the following table figure , passage and answer the questions given below it. (Any Twg)
1) Observe the market supply schedule of onions and answer the following questions.

E’rice in rupees | Supply of firm I_ﬁpply of firm | Supply of firm | Market supply J
A B c_ 4 '

10 oo 20 s |10 !

20 0 ] e 55 140 |

3 50 55 LA - ,

| 40 65 65 — 200 ]

2) In the following diagram AE is the linear demand curve of a commodity. On the basis of the given diagr:
state whether the following statements are true or false .give reasons to your answer .

_ bqﬁml;:_{c’d '

(1) Demand at point C is relatively elastic demand.
(II) Demand at point D is relatively inelastic demand.
(I1T) Demand at point B is unitary elastic demand.
(IV) Demand at point E is perfectly inelastic demand.

Juanfity
. 2

1

- !

f o - |

‘ : \‘51‘ LA s J

3) Read the following passage and answer the questions given below it
Prime Minister Narendra Modi rooted for energy independence and said India has to become self-sufficiert
meeting its energy needs in his address to the nation on the 75th Independence Day. He further said that it?
like solar energy, Mission Hydrogen and adoption of electric vehicles (EVs) need l{; be taken to “the next ¥
cnergy imicpendcncc.';' " T

For India to progress, for “Atmanir| 1", energy independence is " ——— ol
pledge that it will be energy independent by the year we c:let[:ate 100th ;‘l’:?;m pl:: nfimufcc I.ruim has
The roadmap for that is to increase usage of natural gas in the economy, setting up a network for supply o'
and piped natural gas across the country, bleading 20 per cent ethanol in petrol and electric mobility, be <
The country has achieved the target of 100 gigawatts of renewable energy capacity ahead of the target
Q.1) What is necessary for self-reliant India? ?

(2.2) When will India become independent in the field of energy? (N
(3.3) Give your opinion on the above passage (2

Q.6) Answer the following questions in detail (Any One). (8
)Explain the law of demand with its exceptions.

1) What is price clasticity of demand? Explain the types of price elasticity of demand.

‘!l.Ct-tt.t-Itoqti

Page 2



juﬁ;: 3
g %ﬂ} PRAHLADRAI DALMIA LIONS COLLEGE OF coMMERCE g ECONOMICS
m Sunder Nagar, 8.V, Road Malad (W), Mumbai 400064

ISO 9001:2015 Certified

Day-—05  SEAT NUMBER P R l

| | .
2022 X | 14 | " 1300 .'
[ [ ] S
ORGANISATION OF COMMERCE & MANAGEMENT (51)
TIME: 2.30 Hrs. (1 Page ) Max, Marks: 50
— J
Q.1(A) .-\um:ver _in one sentence: |5 marks)
1. What is standardization of tools and equipments?
2. What is Controlling?
3. What is Management?
4. What is RTGS?
5. What is B2Bp?
(B) Give one word / terms / phrase for the following sentences: |5 marks)
1. The principle of management that sims of fair treatment to employees,
2. A function directly related with human beings,
3. The statement of contract between the insured and insurer,
4. This mode of transport is relatively expensive.
5. The first step in online transaction.
(C)Select correct option from the bracket: - [4marks)
[ Group A [ GrowpB |
I.E-commerce |
N ~ I'Specialized Postal
3. Planaing |
4 J?@Eg[ﬁhﬁh__ E

(Logistics Post, Basic Function, Branch of ¢-business, cyber space)

Q.2 Explain the following terms/concepts: [Any 2] [4 marks|
1. Co-ordination
2. Motion Study
3. Serviee
4. KPO

Q.3 Distinguish between [Any 2) [Smarks)
1. Planning and Organizing
2. Life Insurance and Marine Insurance
5. BPO and LPO
1]

v Q.4 Answer in Brief [Any 2] [Smarks)
I. Explain types of warehouses.

| 2. Importance of Directing.
3. Elaborate Principles of Scientific Management.

| Q.5 Justify the following statement: [Any 2] * I8 marks|
I. Communication is essential for growth of business. o
2. Principles of management are applicable 1o all types of organizations,
3. Right person at right job with right pay is the basic principle of staffing,
0.6 Answer the following. (Any 1) (Marks 8)
1. Explain the functions of Commercial Bank,
Or
2. Explain Henry Fayol's Administrative theory of management,

L T T T T T




Sunder Nagar, 8.V, Road Malad (w), Mumbai 400064
1SO 9001:2015 Certified

= XE@ PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
oy

rIJ'lﬂl:c'—-——liii SEATNUMBER [ [ [ [ [ [ [ |

(2022 x |13 1300 )
- — e
MATHEMATICS & STATISTICS (88)
(COMMERCE)
L TIME: 2,30 Hrs. (§Pages) Max. Marks: 50

Instructions

1) All questions are compulsory.

2) There are FOUR questions.

3) Use of logarithmic tables is allowed. Use of calculator is not allowed.
4) For each MCQ, correct answer must be written along with its alphabet.

' E. EI al ----- lﬂf {h}l“‘l!ll'! lc] Illr“f--’{dl Spbpamdnine
Q 1. A) Select and write the most appropriate answer from the given alternatives for each sub
question. « (1 mark each)

i) Ifp:°T is areal number
g : *2’ is an even prime number
Then, symbolic form of statement
“It is pot true that ‘1" is a real pumber and ‘2" 1s an even prime number” is

(@) ~pv~4q (b) ~(p~g) (c) -(pva) (d) pr~q

B OO
il) The matrix |0 & 0] 15
'b 0 0 8
(a) Identity matrix (b) scalar matrix
(c) Null matrix (d) Column matrix

iii) A Merchant gives his agent 3% ordinary commission plus 2% del credere commission on
sale of goods worth Rs.60,000. How mueh does merchant receive?”

(2) Rs.55,000 (b) Rs.65,000 {c) Rs.57,000 (d) Rs.63,000

iv) The premium and property worth Rs. 12,50,000 at 3% if the propenty is
insured to the extent of 80% of its value is_
a) Rs300 b) Rs 3,000 ¢) Rs 30,000 d) Rs 3,00,000

v) The Cost of Living Index Number using Aggregate Expenditure Method isgiven by

a) -E'F'—qqxlﬂﬂ b) Z&xmu
> Pefte P

P Pvdh
229 100 d) *100
‘ Y. s : 2. Puto

Page 1 P.T.0,
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L]

compound statementy

B) State whether the following statements are true or false.

) Ifpandgq are true and r and s ar¢ {alse then the truth value of

~ [{—- pvs)al-qgn r)|is T-
ii)  For matrices Aand B, matrix multiplication is not commutative, th'ﬂl is, in general

AB # BA. |
i) The Hungarian Method is an optimization algorithm that solves a Sequencing Problem

iv) Seculartrendofatime spriesisits smooth and regular long-term movement.

¢) Fill in the following blanks with appropriate words.

present waorth 15 called

(1 mark each)

i) The difference between face value and

ii) Amount which is insured under the policy iscalled _———

iii) If job A to D have processing times as 5, 6, 8, 4 on first machine and 4, 7,9, 10 on seq

machine then the optimal sequence is__ -

iv} If B, (L)= 225, P, (P)=144then calculate () R

)

Q2. Attempt any SEVEN of the following. (3 marks each}

i) if Z.Pn‘h =140, Z Pog; =200, ZPL% =350, Z g, =460, find
Laspeyre’s, Paasche’s, and Dorbish-Bowley's Price Index Numbers.
ii) Using the truth table, examine whether the following statement patterns are tautol

contradictions or contingency.

@rg) P

2 =2
fA= [ 4 3 ] then find A™! by the adjoint method.

iiif)

- -

iv)  Use 1995 as base year in the following problem find the Price Index Number using

simple Aggregate Method
Commodity A B cC D E
Price (in Rs.) in -
1995 12 30 54 70 120
Price (in Rs.) in
2005 60 55 14 1o 140

v) A bill of Rs.6,395 drawn on 19th January 2015 for 8 months was discounted 0"
February 2015 at 8% p.a. interest. What is the banker’s discount? What is the cash'

of the bill?
vi) The following data gives the production of bleaching powder {in '000 tonnes) for the
1962 to 1972.
Year 1962 1963 1964 1965 1966
Production C .0 1 1 4
Year To67 | 1968 | 1969 | 1970 | 1971 | 1972
Production 2 4 9 7 10 8
Page 2
e
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a) Obtain trend values using 5-yearly moving averages.
b} Plot the original time series and trend values obtained in (i) on the same graph.

vii) A lady plans to save for her daughter's marriage. She wishes to accumulate a sum of
Rs.4,64,100 at the end of 4 years. What amount should she invest every year if she gets

an interest of 10% p.a. compounded annually? [Given (1.1) = 1.4641]

-.riii}r Fit}d the sequence that minimizes the total elapsed time to complete the following
jobs in the order AB. Find the total elapsed time and idle times for both the machines.

Joh Ty viviivi
Machine A | 7| 16| 19101 14| 15] 3
Machine B | 121 14| 14|10} 16] 5| 7

ix) A job production unit has four jobs A, B, C, D which can be manufactured on each of the
four machines P, Q, R and 5. The processing cost of each job for each machine is given in
the following table:

Job Machines
{Processing Cost in Rs.)

I 1] i v
P 1] 25 33 29
Q 25 | 24 23 21
R 19 2] 23 24
S 33 36 34 40

Find the optimal assignment to minimize the total processing cost

x) Four new machines Mj,M2,M3 and Mg are to be installed in a machine shop. There are
five vacant places A, B.C, D and E available. Because of limited space, machine M3 cannot be
placed at C and M3 cannot be placed at A The cost matrix is given below.

Machines Places
A B cC|] D E
M1 3 6 TREE 6
M2 4 - 5 -
M3 v 6 9 6 2
[~ M4 9 3 ¥ b 2 3

Find the optimal assignment schedule

Q3. Attempt any THREE of the following. ( 4 marks each)

i)  Expressthe truth of each of the following statement by Venn diagram.

a) Some rectangles are squares.
b) No co-operative industry is a proprietary firm.

¢} Many servantsare not graduates.
d) Al natural numbers are real numbers and xisnota natural number.

6 3 -4 -l

i)  Findxandy.if [2 0 343 -1 2(+2| ! olt=[x »]
s 4] |-3 -4

page3 p.T.C
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iii) The following table gives the production of steel {in

-

millions of tonnes) for years 197¢ )

Year 19761 1977 | 1978 [ 1979 | 1980 | 1981 |
Production f 4 d 2 i B__

Year 19521 1983 | 1984 | 1985 | 1986
Production | 5 | 9 4 10 | 10

Fit a trend line to the above data by the methaod of least squares

iv) A person takes a life policy for Rs.2,00,000 for a period of 20 years. He pays premiyy,
for 10 years during which bonus was declared at an average rate of Hs..zu per yes
per thousand. Find the paid up value of the policy if he discontinues paying premiyp,

after 10 years.

v} Find the sequence that minimizes the total times required in perfﬂfminﬁ following
on three machines in the order ABC. Processing times (in hrs.) are given in the follg,
table.

B Job 1 2 3 a 5 I
Machine A 8 10 6 7 11 '
Machine B 5 6 2 3 4
Machine C a4 ] 8 6 5 20,

vi) A.company has a team of four salesmen and there are four districts where the company
wants to start its business. After taking into account the capabilities of salesmen and the

nature of districts, the company estimates that the
salesman in each district is as below :

Salesman District
1 213 4
A 16 10§12 1
B 12 13] 15 I3
C 15] 1511 14
D 13| 14} 14 i5

profit per day in rupees for cach

Find the assignment of salesman to various districts which will yield maximum profit.

Q4. Attempt any one of the following.

i)

(4 marks eachl

A bill of Rs.8,000 drawn on 5th January 1998 for 8 months was discounted for Rs.7,68

on a certain date. Find the date on which it was discounted at 10% p.a.

Solution : Banker’s Discount
B.D.=F.V.-C.V. =8,000 -7,680=Rs.320
Date of drawing = 5th January 1998

Period

Nominal due date = L - - |

Legal due date

Page 4
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“3\ B.D. = Intereston F.V.forn at 10% p.a.

F.V.x——xp
100

B.D.=

8,000x—"x10
320m— 365
100

n= L 1} days

April | May | June | July | Aug | Sep | Total

15 k)| Rl k]| 31 D 3

—l

Date of discounting is |

i) Find x in the following table if Laspeyre's and Paasche’s Price Index Numbers are equal.
Commodity Base Year Current Year
Price |Quantity| Price |Quantity;

A T =1 2 5
B 2 5 x 2

Solution

Commeodity Base | Current
Year Year |P040 | P190 P191 PO 91

Po |90 |P1 |91

A 2 |10 |2 5 20 20 10 10
B 218 21X 2 10 5x 2x 4
Total 30 2045x 10+2x 14

Y podo =30, Y Podi =14, ) P =20+5x, 3 pig, =10+2x,

Given that

P, (L)="PF,(P)
_Zﬂx 100= _Z_!fl x100
Z P Z Poh

ixlﬂﬂ: 10+ 2x
30 d

280+ [ ]=300+60x

2 m—

%100

rrre T T E o R R LR A L
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i J
Q.1 Answer the following as directed: [16]
A) Do you agree or Disagree with the following statements: (04)

I. Revaluation Account is also known as Profit and Loss Adjustment Account.

2. Current Account always shows a debit balance,

3. Receipts and payments Account contains the transactions relating to current year only.
4, Gain Ratio is calculated ot the time of admission of o partner,

B) Answer the following questions in one sentence each: (04)

To which Account Surplus or Deficit is transferred?
What is Secrifice Ratio?

What is meant by retirement of partner?

What is Partnership Deed?

ol Sl o

C) Select the most appropriate answer from the alternatives given below & rewrite the sentences: (04)

1. When there is no partnership agreement amongst the partners, the division of profits take place in
ratio
(@) equal _ (b)capital  (c)lnitial contribulion (d) Experience and tenure of partners

2. Donation for Scholarship fundis A |
(&) Capital Reccipt  (b) Revenue Receipt  (c)Capital expenditure  (d) Revenue expenditure

3. In the absence of partnership deed, interest on loan advanced by the partner to the firm is allowed

@_ .
(a) 5% (b) 6% (€)10% id) 9%
4 Subscription received in advance during the pecounting year is _—
{a) an i?sm (b} an expense (¢)an asset {d) a liability
04
D) Calculate the following: (04)

I. Book value of the patents is €50,000, wrile them off by 2.5%, what will be the revalued amount of

patents?
2 Seema and Hema are partners sharing
share in future profit. Calculate new ratio of Seema, Hema and Neema,
3. Given the amount of capital Employed is 250,000, with Normal rate of Return at 8%, Calculate the
. Given

amount of Normal Profit. ‘
4. Caleulate the amount of Expenditure if Income is 218,000 and Surplus is 14,000,

profits and losses in the ratio of 3:2. Neema is admitted for 25t

Page 1 pP.T.O
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Q.1 Answer the following as directed: [16]

A) Do you agree or Disagree with the following statements: (04)

Revaluation Account is also known as Profit and Loss Adjustment Account,
Current Account always shows a debit balance,

Receipts and payments Account co
Gain Ratio is calculated at

B =

ntains the transactions relating to current year only.
the time of admission of a partner,

P B) Answer the following questions in one sentence each: 04
I

To which Account Surplus or Deficit is transferred?
What is Sacrifice Ratio?

What is meant by retirement of partner?

What is Partnership Deed?

d gl el e
- A e

~ () Select the most appropriate answer from the alternatives given below & rewrite the sentences: (04)
| I. When there is no partnership agreement amongst the partners, the division of profits take place in

- ratio

(a) equal (b) capital (c)Initial contribution  (d) Experience and tenure of pariners

2. Donation for Scholarship fund is .
(a) Capital Receipt  (b) Revenue Receipt  (c)Capital expenditure (d) Revenue expenditure

. 3. In the absence of partnership deed, interest on loan advanced by the partner to the firm is allowed

@ %.
(a) 5% (b) 6% (€)10% (d) 9%
4. Subscription received in advance during the accounting year is : .
(a) an income (b) an expense (c)an asset (d) a liability
D) Calculate the following: (04)

I. Book value of the patents is 50,000, write them off by 2.5%, what will be the revalued amount of

patents? : ;
2. Seema and Hema are partners sharing profits and losses in the ratio of 3:2. Neema is admitted for 2/57
. Se¢ema ema

share in future profit. Calculate new ratio of Seema, Hema and Neema.
). o " t of capital Empl oyed is £50,000, with Normal rate of Return at 8%, Calculate the
- Uiven the amount of ca

amount of Normal Profit. z
Calculate the amount of Expenditure if Income is 218,000 and Surplus is 114,000.

Wil P.T.0
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Balance and Adjustments, prepare Trading and Profit ana rasss === Iui-u.
Balance Sheet as on that date: * March, 2022 ——————__ /
© TrimBahnceason 3L EOLL S i
Particulars S - —_— | J
_ e 98,000 “"T-
Purchases - 4,000 | '|
. Copyright 10,000 |
| Provident Fund Investment 35,000 -
| Stock as on 01.04.2021 40,000
| Capitals: Satish 50,000
Kavish 1,750
Printing & Stationery 7000 | |
Provident Fund 35,000 ‘
Sundry Debtors 1,00,000
Mncl.lin:r}f (Purchased on 1-1-2022) 45,000
Creditors 1,70,000 |
ol 8,000 1,500 | |
Cash | 23,200 |
Provident Fund Contribution i 800 250 |
R.D.D. 2,000 |
Interest on Provident Fund Investment - . g
| Tetal 315750 315750 |
Adjustments:
1. Closing stock is valued at cost 2 15,000 and market price Z 18,000. |

. Prepaid Printing & Stationery is 2250.

Depreciate Machinery (@ 10% p.a.

RS

Outstanding wages were ¥1,000.

Create Reserve for Bad and Doubtful Debt (@ 5% on Debtors.

Interest on Capital is to be provided at 5% p.a.

Q.3 From the following Balance Sheet & Receipts and Payments A/c of Kundan Sports Club, Pune
Prepare Income and Expenditure A/e for the year efided 31" March, 2022 and Balance Sheet as on that

date. (12)
Balance Sheet as on 1" April, 2021
Liabilities Amount Assets Amount
) ®
Capital Fund 9,00,000 | Playground 7,95,000
Outstanding Salary 10,000 | Furniture 40,000
Subscription received in Stock of Sports Material 44,000
advance for the year 2021-22 9,000 | Outstanding Locker Rent 20,000
Cash at Bank 20,000
i 219,000 9,19,000
Dr. Receipts and Payments Account for the year ended 31* March, 2022 Cr.
Receipts An;:)unt Payments Amount
To Balance b/d By Salaries é-? 000
cghs, | Bt o0
i ] 155100 I'ees H By SPOl‘ts Materi 4
To Subscription 1,00,000 aterial Purchased 52,000
To Life Membership Fees 3,000
To Locker Rent 24,000 | By Cricket T,
(Including 218,000 for the last By Balance é::llmamem Expenses 1,32,600
year) Cash
To Donations for Building Fund 50,000 | Bank 20,000
To Cricket Tournament Receipts | 1,01,800 22,200
To Sale of Furniture 12,000
(Book Value 220,000)
) i 3,23,800 |
i 3,23,800 |
Page 2 e 1.0
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\ Additional Information:

2

3.
4.

Q.4 Sushmita and Anita are pariners sharin
March, 2022 stood as follows:

- Subscription received during the year in

Stock of Sports material in hand on 31™ March,2022 was 48,000,

cludes 210,000 2022-23 and outstanding subscription for the
year 2021-22 is 2 20,000,

30% of Admission fees is to be Capitalised.
Current year's outstanding locker rent is 2 30,00.

& profits and losses equally. Their Balance sheet as on 31"

[10]
———_______ Balance Sheet as on 31" March, 2022
| Liabilities Amount | Amount Assets | Amount | Amount |
i e I o (%) T
 Capital Alcs: Computer - "__(ﬂll_bﬁﬁ'
Sushmita 50,000 Stock of Goods 42,000
- Anita _ 40,000 | 90,000 | Debtors 30,000
| sa_mdry Creditors 40,000 | Bills Receivable B,000
|. Bills Payable 25,000 | Cash in Hand 25,000
Profit & Loss Afc 10,000
[
155000 | 1,55,000

YOn 1" April, 2022, they admitted Rachita as a partner on the following terms:

[ ]

o e L

The new profit-sharing ratio will be 2:2:1.

Rachita shall bring in cash 2 20,000 as her capital and ¥ 40,000 as her share of Goodwill.

50% of the amount of goodwill to be withdrawn by partners.

Computer is overvalued by T 25% in the books and Stock to be undervalued by 10%.

Create a provision of 5% on debtors(in view of ljkely bad debts),

The Capital of the partners Lo be adjusted in their new profit-sharing ratio by making adjustment through
Cash Account.

Prepare: (1) Revaluation Afe (2) Partner's Capital A/ (3) Balance Sheet of the new firm

OR
Q.4 A, B and C were partners sharing profits and losses in the ratio at 5: 3: 2, Their Balance Sheet as on
31" March, 2022 is as below: (10]
Balance Sheet as on 31" March, 2022
Liabilities Amount Assels :\n;;i.mt
® = T
Capital Afes: Land & Building 1,00,000
A 20,000 | Furniture — 30,000
1,50,000 | Debtors RILtH

g 100,000 | Less: R.D.D._10,000 90,000
Reserve Fund 8,000 _
Sundry Creditors 20,000 | Goodwill g?,ggg
Loans 28,800 | Cash at Bank ;

| 32680, 3,26,800

On " April, 2022, C retired from {

L.

Mo AL

Give journal entries in the

he firm on the following terms:
A's & B's share in the reserve to be continued in the new firm.

R.D.D. is to be increased upto ¥ 12,000. =

Land & building to be appreciated by 2 10.000.
Fumniture is reduced to 2 20,000. -

Goodwill of the firm is revalued atI 2 fs;,ao :

Creditors were repuid at a discount of 5% |
f\mu:;:spayuble f:. Cistobe transferred to his Loan Ale

books of the firm
*******ii****
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Q.1 (A) Answer in one sentence. (5)
1. What is private placement ?

2. What is the subsequent issue after [PO called as 7

3, What is a share certificate ?

4. Name the document which is an agreement between the deposil trustee and company.

5. What is production cycle ?

(B) Write a word or a term or a phrase which can substitute each of the following statements.

(5)

1. The decision of finance manager which ensures that fi-m is well capitalised.
2. A Dollar denominated instrument traded in USA.

3. Highest bid price in Book Building method.

4. Type of resolution needed to issue convertible debentures,

5. Maximum tenure of a deposit,

(C) Select the correct answer from the options given below and rewrite the statements, (4)

l.A Company can accept deposits from public not exceeding 35% of its paid-up share Capital

and free reserves.

1) Government b) Private ¢) Eligible Public
2, Dividend is recommended by _ -
a) Board of Directors b) shareholders ¢) Depositors

3 are the creditors of the company.

b) Debenturcholders ¢) Directors
ho have been given shares by the company.

a) Shareholders
4. Letter of ...........o...... i sent to applicants W

b) Renunciation ¢) Allotment

a) Regret
Q2 Explain the following terms / concepts. {Any 2 out of 4) (4)
1. Charge on Assets.

% Redeemable Preference Shares.
3 Authorised Capital.

¢ Coporate Finance page 1
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Q.3 Distinguish between the following. (Any 2 0ut o)
1. Fixed Capital & Working Capital.

2. Rights Shares & Bonus Shares.

3. Transfer Of Shares & Transmission Of Shares.

Q.4 Answer in brief. (Any 2 out of 3)

1. Draft a letter of allotment to debenturcholder.

2. Write a letier to the member for the issue of Share Certificate-

3. State any four provisions of Companies Act 2013 for issue of debentures.
Q.5 Justify the following statements. (Any 2 out of 3)

1. All companies cannot accept deposits from public.

2. Debenture trustees is appointed by a company issuing debentures.

3. There are various factors affecting the requirement of fixed capital.

Q.6 Answer the following questions. (Any 1 out of 2)

1. What is an equity share? Explain its features.

2, Explain the statutory provisions for allotment of shares.

EEmedsdEEks RN e REN
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QL Fill in the Blanks 5 marks
l. <Input pe="___ — "> defines range control.
2. — _ attribute act as g lemporary label showing the purpose of a text field without
requiring a label tag,
3. The ———_ reads the content and think the website s original one and it ranks the page.
4. All financial entries are made using __ or uccount heads,
5 A is the series of exchanges between a customer and supplier that take place when a
commercial exchange is executed.
Q2. State True or False 5 marks

1. G2C stands for Government to Customer,
HSN stands for Harmonized System of Nomenclature,

3. Googlebot is the process of adding web pages into Google search.
4. The <iframe> tag creates an inline frame,
5

rJ

- A given <map> tag can contain multiple <area> tag within i.

Q3. Fill in the blanks (One correct answer) 5 marks

. attribute defines the URL to which the clickable regions within the map.

a. href b. height ©.sme d. preload
2, The tag is used to specify multiple media resources for media elements,
4. <audio> b. <video> ¢ .<source> d.<map>

3 file is tells the search engines which page to access and index on your website and
which not.

& batch.txt b. googlebot.txt ¢ . Robots.txt d.search.txt
41GST stands for -
a. Internal Goods and Service Tax b. Indian Goods and Service Tax
¢. Integrated Goods and Sc:.-\-ice Tax d. International Goods and Service Tax

* provides online facilities to the employees like applying for leave, checking the
o L SN
balance of holidays.

i . Government to Employee
L Government to Business b. Go p

d. Government to Customer
¢. Government to Government

p.T.0
Page 1
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a1) Répondez en Frangais -

Que faites-vous quand vous dtes fatigué ?

Décrivez la Tour Eiffel {deux aspects)
Quel temps fait-il ay printemps en France?
. . Qu'est-ce qu'un repas équilibré ?

2] Grammaire ~

A. Chaisissez le temps correct du verbe —

S a W e

Les Franvfals. que prennent-ils au petit-déjeuner?
Pourquoi faut-il aglr ensemble pour sauver notre planiste ?

|

| 3. la rue 3 droite, Mansieur. (prendre - Impératif}
4. Le bus de touristes dans quelques instants. (arriver - Futur Proche)
5. Mamére la cuisine quand je suis rentré cher moi. (Faire - Imparfait)

8. Faites comme indique =

1. Nous samedi pour le cancert. (Venir #assé composé )
2. letraindelyon _____,ilyadeux minutes. [partir - Passé Récent)

1. Jeprends déjeuner dans la cafétéria du lycée. ( Possessif adjectif)

J"ai un rendez-vous important
Elle m'a expliqué le probléme

Qs w N

Contraire - a. Chaud b, Propre

€. Cholsissez les pronoms corrects pour les mots soulignés ~

variété | C'est difficile de choisir. {Interrogatif adjectif)

semaine. (Demanstratif adjectif)
. {sérieux - Adverbe)

Je suis fatigué , je me repose a la maison. Je vais

1. André, il trouve la géographie intéressante.

_ 2. Nous allons gu marché ce soir.
i 3. Nicas va goQter les plats francais .

4. Les parents de Robert partent pour Nice.

5. Parlons au directeur de I'lnstitut.
U thoisissez le bon Articles —
L llneboitpas________ vinl'aprés-midi.
L Sivous avez mal
(hisissez la bonne préposition —
L Je pense voirun film ______ mes Amis.

. L Onsertune variété de fromages ______U" plateau.

" (wisissez les bons phrases au comparatif -
| o b Lexabaddi (populaire ) le foot.
Q visissez les bons phrases au superlatif =
? L Moliére - grand écrivain - France
HTra . .

Fra -

What time do you go to the gym?
®®turned home late after dinner.

1
3

dents, Allez chez le dentiste.

| Every weekend, they used to go to the countryside.
{
[
|

page 1
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Q4) Traduisez en anglais - '3

Si on ouvre le journal, on y trouve beaucoup d'information de ce qu'il faut faire ou ne pas faire pour avoir uns
bonne santé physique et mentate, Sur Whatsapp il v a toujours des cansells de santé . Tout cela méne & une
Grande confusion.

Qs) Blog oy Email - s 7

Nikhil Bose, un jeune indien travaille en France. il a passé un week-end a Paris avec ses amis. Il dcrit un blog sur le sujet
Sulvant :

<< Un week-end & Paris o
[visiter les endroits touristiques, les moyens de transport, manger au restaurant, acheter
des souvenirs.... etc.)

Ou

M. Gide {gide 1956@orange.frjenvoie un courriel & son petit-fils Ron (rongide @hotmail.com) un gargon de dix ans, pour
expliquer comment restér en bonne santé.

(1 discipline dans la vie quotidienne, les sports, les repas équilibrés. . etc.)
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